7 класс, алгебра

Тест «Графики линейных функций.

Вариант 1.
Установите соответствие график-функция.

	Задание 1.
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	Задание 2.
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	Задание 3.
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7 класс, алгебра

Тест «Графики линейных функций.

Вариант 2.
Установите соответствие график-функция.
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	3
	

	Задание 1.
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	Задание 2.
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	Задание 3.
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Ответы.

Карточка 1. 

1)  1-Б    2-Д    3-В

2)  4-Д    6-А   12-Б

3)  5-В   8-Б    9-Д

Карточка 2.

1)  6-Б   4-Г   12-А

2)  8-А   7-Б   5-Д

3) 11-Б   9-В    3-Г
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_1071351981.unknown

_1071352065.unknown

_1071352004.unknown

_1071351945.unknown

_1071351963.unknown

_1071351916.unknown

_1071351838.unknown

_1071351586.txt
ÿ¢
<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="10"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=2{,}5" mainformula="y=2.5" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="2.5" mainformula="2.5" algor="7" selPrioritet="2" hole="0"><textPosition x="0.05000000000003" y="2.7" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="11" mainformula="11" algor="7" selPrioritet="2" hole="0"><textPosition x="3.85000000000004" y="-2.9" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071351670.txt
ÿ®
<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="10"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-3{,}4" mainformula="y=-3.4" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="-3.4" mainformula="-3.4" algor="7" selPrioritet="2" hole="0"><textPosition x="-9.99999999999703E-02" y="-3.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="10" groupID="10" color="0" colorID="1" width="1" style="0" localformula="12" mainformula="12" algor="7" selPrioritet="2" hole="0"><textPosition x="4.15000000000004" y="-3.55" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071350631.txt
ÿ¼	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-2x-2" mainformula="y=-2x-2" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="2" mainformula="2" algor="7" selPrioritet="2" hole="0"><textPosition x="4.25000000000004" y="-2.9" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071351042.txt
ÿ¸	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-3x" mainformula="y=-3x" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="6" mainformula="6" algor="7" selPrioritet="2" hole="0"><textPosition x="4.10000000000004" y="-2.9" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071351258.txt
ÿº	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-x+2" mainformula="y=-x+2" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="8" mainformula="8" algor="7" selPrioritet="2" hole="0"><textPosition x="4.10000000000004" y="-2.9" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071351324.txt
ÿ¼	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-4x-3" mainformula="y=-4x-3" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="9" mainformula="9" algor="7" selPrioritet="2" hole="0"><textPosition x="4.20000000000004" y="-2.7" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071351194.txt
ÿ¸	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=x+2" mainformula="y=x+2" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="7" mainformula="7" algor="7" selPrioritet="2" hole="0"><textPosition x="4.15000000000004" y="-2.8" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071350778.txt
ÿ»	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=3x-2" mainformula="y=3x-2" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="4" mainformula="4" algor="7" selPrioritet="2" hole="0"><textPosition x="4.10000000000004" y="-2.65" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071350987.txt
ÿ¶	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=2x" mainformula="y=2x" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="5" mainformula="5" algor="7" selPrioritet="2" hole="0"><textPosition x="4.20000000000004" y="-2.8" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071350704.txt
ÿ½	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=-3x+1" mainformula="y=-3x+1" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="3" mainformula="3" algor="7" selPrioritet="2" hole="0"><textPosition x="4.20000000000004" y="-2.75" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




_1071350570.txt
ÿº	<?xml version="1.0"?>

<graphicX><size nWidthPix="224" nHeightPix="200" rMinX="-5.39999999999998" rMaxX="5.80000000000004" rMinY="-4.9" rMaxY="5.1"/><grid visible="1" stepX="1" stepY="1" color="-1"/><backColor color="16777215"/><AxisColor color="0"/><StepParam1 value="0.1"/><StepParam2 value="0.1"/><StepParam3 value="0.1"/><StepParam4 value="0.1"/><StepParam5 value="0.1"/><StepParam6 value="0.1"/><AxisWidth value="2"/><AxisDigits value="0"/><AxeXVisible AxeXVisible="1"/><AxeYVisible AxeYVisible="1"/><graphs nGraphs="9"><graph nType="100" ID="1" groupID="1" color="0" colorID="1" width="1" style="0" localformula="x" mainformula="x" algor="7" selPrioritet="2" hole="0"><textPosition x="4.3" y="1.2" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="2" groupID="2" color="0" colorID="1" width="1" style="0" localformula="y" mainformula="y" algor="7" selPrioritet="2" hole="0"><textPosition x="0.550000000000001" y="5.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="3" groupID="3" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="0.800000000000001" y="0.15" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="4" groupID="4" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="6.93889390390723E-16" y="1.6" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="5" groupID="5" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-1.5" y="-0.45" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="6" groupID="6" color="0" colorID="1" width="1" style="0" localformula="-1" mainformula="-1" algor="7" selPrioritet="2" hole="0"><textPosition x="-2.15" y="5.00000000000003E-02" deltaX="0" deltaY="0"/></graph><graph nType="100" ID="7" groupID="7" color="0" colorID="1" width="1" style="0" localformula="0|" mainformula="0|" algor="7" selPrioritet="2" hole="0"><textPosition x="-0.849999999999999" y="1.15" deltaX="0" deltaY="0"/></graph><graph nType="5" ID="8" groupID="8" color="0" colorID="1" width="1" style="0" localformula="y=2x+3" mainformula="y=2x+3" algor="1" selPrioritet="2" hole="0"/><graph nType="100" ID="9" groupID="9" color="0" colorID="1" width="1" style="0" localformula="1" mainformula="1" algor="7" selPrioritet="2" hole="0"><textPosition x="4.20000000000004" y="-2.8" deltaX="0" deltaY="0"/></graph></graphs></graphicX>




